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Hugh— gk = gk = g gk 7 g gk~ (31) (22)
B3t 311 1, 053, 696
1|2 aGEROPVE) |42 (TPE) 1 GF RO (PYG) 5 1,024
2 |F s (KUL) + & (KCH) 5 £ 3 (MNL) 4 # (TPE) 1 4,022
3 |F L4is(ANO) H (= )(ICN) 4 # (TPE) 2 7,565
4 |= s (ANO) 4 7 (TPE) % % (HKG) 1 8,298
5 |% %45 (ANO) 4 #* (TPE) #74e 5 (SIN) 1 10, 741
6 |3 %7850V % w45 (ANO) %3 (%8 )(NRT) H B iz ")(ICN) |4 # (TPE) 1 13, 252
T |3 #7850V % w35 (ANO) # F (= )N 4 7 (TPE) 1 12,578
8 |33 7RRCVG) L3 (%9 )(NRT) #F Ci= )N % # (TPE) 3 13,210
9 |78 (CV6) % A (2 v )(NRT) 4 # (TPE) 1 12,703
10 |# 37835 (CV6) # (= )N 4 # (TPE) 1 12,415
11 |%#(*a)(NRT) |4 (TPE) 513k (OKA) 10 2,780
12 |%# (*a)(NRT) |4 (TPE) 6 2,161
13 |4 # (K 4 7 (TPE) + g (KIX) 2 2, 524
14 |4 % (HKG) 4 7 (TPE) % 735 (ANC) 6 8, 331
15 |4 # (HKG) 4 # (TPE) % (%8 )(NRT) 10 2,958
16 |4 % (HKG) 4 # (TPE) % i (HKG) 14 807
17 |4 % (HKG) 4 # (TPE) 9 796
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Fr gk #rgh = HBE = Fghw #gh T Hgh #gh -~ (51) (22)
IR (PR . . AR GI R

18 | )(ST0 4 # (TPE) @ (HAN) %) (SV0) 2 15, 750
19 |4 (TPE) FiE G ROPVG) 14 905
20 |+ (TPE) < R (KIX) % 5455 (ANC) 3 4c# (ORD) % 5455 (ANC) R (KIX) |4 2 (TPE) 4 28,213
21 |42 (TPE) < B (KIX) % 535 (ANC) 3 4B (ORD) % 535 (ANC) 4 # (TPE) 1 28,213
22 |4 2 (TPE) < B (KIX) 8 1,703
23 |4 # (TPE) + 124 (KUL) 2 3, 247
24 |4 # (TPE) &+ B (NGO) % % 785 (CV6) 5 12, 339
25 |+ (TPE) % 455 (ANC) I # W~ (ATL) % %455 (ANC) £ 1= (KIX) 4 # (TPE) 2 26, 186
26 |+ 2 (TPE) % 555 (ANC) I # W~ (ATL) ¥ 48 (ORD) % 5455 (ANC) 4 # (TPE) 1 26, 059
27 |+ (TPE) % 54235 (ANC) IR~ (ATL) & 2 #7(DFW) % 54255 (ANC) % # (TPE) 6 29,918
28 |+ (TPE) % 5.5 (ANC) 348 (ORD) % 54255 (ANC) £ = (KIX) 4 # (TPE) 1 28,213
29 |4 4 (TPE) % 7355 (ANO) % 48 (ORD) % 5495 (ANC) 4 # (TPE) 5 24, 053
30 |4 # (TPE) % 45 (ANC) ¥ 48 (ORD) & %= F(SEA) 4 # (TPE) 2 27,776
31 |44 (TPE) % 7355 (ANO) & 4525 (LAX) % 5495 (ANC) 4 # (TPE) 1 22, 565
32 |+ (TPE) % 3.3 (ANC) & 4525 (LAX) 3 4c 8 (ORD) % 54235 (ANC) % # (TPE) 1 24, 052
33 |44 (TPE) % 7355 (ANO) 2 9 (JFK) % 5495 (ANC) 4 # (TPE) 5 29, 711
34 |44 (TPE) % 7355 (ANO) 2 9 (JFK) & 7 B (SEA) 4 2 (TPE) 1 29, 711
35 |£ 4 (TPE) % 54235 (ANC) & =20 (MEM) 6 12, 583
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Hgh— 031 gz gk gy HLgh A gk~ (1) (22)
36 |4 (TPE) % 45 (ANC) i 42 2+(DFW) % 5455 (ANC) 4 # (TPE) 1 24, 814
37 |+ (TPE) % 5455 (ANC) it £ 25(DFW) I # W~ (ATL) % 3.3 (ANO) 4 # (TPE) 1 26,574
38 |4 (TPE) % 2455 (ANC) it £ 25(DFW) it 4525 (LAX) % 7.3 (ANO) 4 # (TPE) 1 25, 681
39 |4 (TPE) % 535 (ANC) i 4 27(DFW) # & 1 (SFO) % 535 (ANC) 4 # (TPE) 1 25, 524
40 |4 4 (TPE) % 455 (ANC) #e % (MIA) L 4 (T1AH) % 3.3 (ANO) 4 # (TPE) 2 32, 667
41 |4+ (TPE) % 45 (ANC) @i % (MIA) # £ L (SFO) 4 # (TPE) 2 17, 685
42 |4+ (TPE) 542 % (CRK) 12 1,102
LR $4 5 5 ) ] ) LR $4 5 5 B
(L ki i %, fs-2 (L ,
43 |4 # (TPE) (D) + 3£ (PRG) J A F(LUX) (DO 4 # (TPE) 2 23, 275
SEEA -
44 |% (TPE) E)wcg BEEE L w R R 4 7 (TPE) | 20, 818
. LR $4 5 5 )

45 |4 # (TPE) (D) 1 6,548
46 |4 # (TPE) Z % (BOM) 2§ = % (KRD) b & E(LUX) 1 12, 860
47 |4 # (TPE) # § (BOM) #1£.(CGN) 1 9,409
48 |4 # (TPE) A (%9 )(NRT) 6 3,253
49 |4 # (TPE) % 7 (NKG) 1 3, 061
50 |+ (TPE) 2455 (LAX) < R (KIX) 4 # (TPE) 3 25, 164
51 |44 (TPE) it 4525 (LAX) & 7 [F (SEA) 4 # (TPE) 1 22, 252
52 |4 (TPE) 2455 (LAX) 4 # (TPE) 2 21, 884
53 |4+ 4 (TPE) i 4525 (LAX) # 4 4 (SFO) £ 4 (TPE) 4 25, 399
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54 |£ 4 (TPE) # 29 (SON) 1 CHAN) $ 2 (TPE) 2 6,012
55 |4 (TPE) # & (CKG) 3 2,929
56 |4 (TPE) S (=) |% A48 (ANO) 45 (LAY) i 11, 346
57 | & 4 (TPE) % 3% (HKG) % %475 (ANC) 3 3 78 (CV6) I 13, 946
58 |4 (TPE) % % (HKG) 35 1,014
59 | (TPE) A & ONL) % (HKG) 4 # (TPE) I 3, 046
60 |44 (TPE) § GRS TOBRD |2 2% = FKRD | &EWUD 2 12,419
61 |44 (TPE) § & (5 4)(BKK) | = & (YD) B % 8 (LUY) 2 12, 623
62 |4 (TPE) § 5 (e ) (BKK) z'*]‘)wgﬂ PELEE e a (AIS) & £ (5~ % )(BKK) |4 4 (TPE) 2 24, 330
63 |44 (TPE) § 5 (B ) BKD) | b (HAN) 4 # (TPE) I 5,139
64 |44 (TPE) § & (B ) (BKK) | 2,502
65 |44 (TPE) 4 (ST 14 1,176
66 |4+ (TPE) % 4e i (CGK) 123 (KL 4 # (TPE) 3 8, 184
67 |4 4 (TP) % () £ - (TPE) 4 891
68 |44 (TPE) #4e 5 (SIN) i CHAN) 4 # (TPE) I 7,097
69 |4+ (TPE) #4e B (SIN) 5 & ONL) 4 # (TPE) 2 4,330
0 |& PR #r4e 5 (SIN) § £ (F ) BKK) |4 (TPE) 4 7,784
1 |& PR #4e 5 (SIN) £ 4 (TPE) 2 8,028
72 |& 2 1PE) #4e 5 (SIN) # 55 (PEN) 4 # (TPE) 3 6, 962
3 |& 1P s @15 (OVB) | 4 E(LUY) I 10, 982
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. i Y T EET I L¥:

- g = gz g g7 N (31) (22)
4 |4 # (TPE) # i (NGB) 10 933
75 |4 # (TPE) 464 (FOC) 5 796
76 |+ # (TPE) R ' (CAN) 1,248
7T |+ # (TPE) # 2 (DEL) B # #(LUX) 4 # (TPE) 1 21, 209
78 |4 # (TPE) #5441 (CGO) 3 1,900
79 |+ # (TPE) # 5 (PEN) i I (HAN) 4 # (TPE) 2 4,300
80 |4+ (TPE) 1+ (PEN) 2 AP (SGN) 4 # (TPE) 2 7,624
81 | % (LU 12§ 7 % (KRW) 4 # (TPE) 2 11,524
82 | & E(LUD) % (=N 4 # (TPE) 1 10, 889
83 | & E(LUX) & #5¢3 # (MCT) 1 # (TPE) 1 12, 501
84 | & E(LU) #+ 2 #7(TBS) 4B & = # (KRW) 4 # (TPE) 1 11, 565
85 |4 (PEN) 4 # (TPE) 5 3,135
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